mean # PXL hits vs eta

<pixel hits>

Ratio

=
LI I B

=
LI S

0.955

mean # PXL Layers with measurement vs eta

<pixel layers> [

Ratio

4

3

2

1

0

1.9

0.955

K

.....................................................................
.....................................................................

5

4

.5:—

L R T e
5F

1

5

1

—=— DQM old

—e— DQM_wrong

<strip hits> [

Ratio

12}

10

—«— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_RECO

\

<strip layers

\‘

N
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

.....................................................................




	Contents
	Page 1


